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HOL [TV TV ROZEDLAY | ns/0[0.00271|0.0024 - - —10.002445|  0.02LL°F
HO02 |v7r RUEDILEY mg/0 |0.00024 [ 0.0002A:1if - - —|0.00027K3#]0.002LL F (8 )
HO3 [=o 7 VR OZEDILEY) ms/0 |0.00247i# | 0.002 A it - - —10.002445|  0.02LL°F
HO05 |1,2-v7marziy mg/0 | 0.000441# | 0.0004 A1 - - —[0.0004544#|  0.004LAF
HO8 MLz ms/0 |0.001 i |0.00 1 At - - —|0.001Aw|  0.4L4F
HO9 |75\ iEY (2-=F LnFiL) | me/0 —[0.008 3 - - - -| 0.08LLF
H10 |MtE R me/0 | 00647 | 0.06 4755 | 0.06Aif | 0.06A7w | 0.06A7i5| 0.06A5i#| .64 F
Hl12 | ez mg/0 - - - - - -l 06BLF
H13 [YrmrarEh=FiL me/0 - - - - - —lo.o1eA F(EE)
H14 |[fakrmeZ—n1 me/0 - - - - - —|0.02LL F (B &)
H15 |R3om - 0.1 - - - -l wE
H16 |7&fth# mg/0 - 0.9 0.2 0.7 0.3 -l 1UF
H17T |y b, ~s % NEGEE) | ng/o 56.3 47.0 - - - 37.4] 10~100
HI8 |~v A R OFEDILEY mg/e|  0.025 |0.0055K75 - - -l 0.044| 0.01LLTF
B19 |EhEpme me/Q 4.0 4.0 - - - 44| 200F
H20 [1,1,1-N)rmmzgy mg/0 10.001 K755 |0.00 1 At - - —|0.001Aw|  0.32AF
H21 [#Fr-t-7Fr=—F L (MTBE)| me/0 |0.001 715 0.001 478 - - —[0.001 ¥  0.02LLF
Foz [0 s |2 54 2.2 - - 5| 10| osuE
H23 [RS5REE (TON) 2 0 0 0 0 3| 3TONLLF
H24 |ZRBIREY mg/0 88 78 - - - 90 30~200
H25 | i 3 9.3 | O0.1ARMM| 0.1K%| 0.1K3%| 0.1 14.1 1L
H26 |pHf 7.9 7.4 7.4 7.3 7.5 7.4 7. 5%
A27 |BRWE G777 HE) -0.6 -1.1 - - - -1.5 —1~0
A28 |EmscHms 181/} - - 5 1 1 Jo00/mL
H29 |1,1-¥ZnnxFL mg/0 10.001 K755 |0.00 1 At - - —|0.001AKw|  0.1EAF
H30 |7TAI=U LK OZOLEY| me/0 0.16 0.06 - - - 0.61 0.1LLF
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HOL |7>FEROZO(LAY | me/e 0.002A47if 0.002A4ii - - 0.0204 F
HO02 |75 BOZED(LE mg/0 0.0002Ai#|  0.0002A7i5 - —-| 0.0028L F(EFE)
HO3 |=> 7 VB OEDILAEY mg/0 0.003 0.002Aii - - 0.0204 F
HO5 |1,2-Y/mumxsy mg/0 0.000447|  0.00047755 - - 0.004LLF
HO8 |FLm=r me/0 0.001 itk 0.001 At - - 0anF
HO09 |74AY (2-=FL~Fl)| me/ - 0.008Aifi - -l 0.088LF
H10 |dEith M me/0 0.06 A3 0.064i 0.06:Ai 0.064i 0.6LLF
H12 |Cmefesis me/0 - - - | oeuF
H13 |Yrma7Eh=k1L mg/0 - - - =| 0.01LL F(E &)
H14 [fakrmZ—L mg/0 - - - -| 0.02LL (&)
B15 |B3E - 0. LA - - 1ELF
H16 | me/0 - 1.0 0.3 0.3 1LF
H17 |IAsr b, ~7 2oy 2NEGEE) | me/0 76.1 62.7 - - 10~100
H18 v ROEDILEY me/0 0.005Aifi 0.005Aifi - -l 0.01MTF
H19 | R mg/0 30.8 15.0 - - 2000 F
H20 |1,1,1-N)runxzzy me/0 0.00 1A 0.001 i - -l 03uTF
H2l |AFA-t-7FA=—F/L (MTBE)| me/l 0.00 1 AYif 0.00 1 A - - 0.02LL
oz | e sy | 9/ 2.5 1.9 - - swE
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H25 |WEE i3 0. LA 0. LAl 0. 1Al 0.1AM |  1EELLF
H26 |pHf# 6.5 6.8 7.1 7.2 7. SRR
H27 |t (7T %) -1.8 -1.6 - - —1~0
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HOl |7 FEVROZOAY | me/e |0.00247| 0.002 4 - - - -| o.02LLF
HO2 |77  ROZEDEY mg/0  [0.00024i |0.0002 A1t - - - —0.00281 F i)
HO3 |=vZ7 L KROZEDILED me/0 [ 0.0027| 0.002 4 - - - -| o.028LF
HO5 [1,2-Y7nnxgy mg/0  [0.0004Ai |0.0004 A1 - - - - 0.004LLF
HO8 [kh1x me/¢ | 0.001K75i | 0.00 1 At - - - -l 0.4LLF
HO09 |724mEy @-xFA~Fin) | me/e -1 0.008 1 - - - -l 0.08uF
H10 | me/0 | 0.06Ai| 0.06A0| 0.0647| 0.0640#| 0.0640#| 0.0640H|  0.6L4F
H12 | —efbiisk me/0 - - - - - -l 06LLF
H13 |YZ7oar7wh=kL mg/0 - - - - - —0.01L4 F (& &)
H14 |fkred—n mg/0 - - - - - —[0.02LL F (&)
H15 |B38E -l 0. 1A - - - -l wE
Hl6 |fREMEHR me/0 - 0.9 0.3 0.2 0.3 0.2 1LIF
17 |#rewn </ 3o oS | ne/o 64.0 58.5 - - - - 10~100
H18 |~wu A ROEDLEY mg/0 0.020 | 0.005A3 - - - -| 001F
H19 |lepEmRne mg/0 4.0 4.4 - - - -l 200F
H20 |1,1,1-h)Zanxiy me/0 | 0.001 i | 0.001 A - - - -l 03T
21 |[#FA-t7Fr=—7LMTIBE)| me/e | 0.001A7i| 0.001 AT - - - -| o.02LLF
EERIN A 7.9 2.5 - - - - suE
H23 |RX5E (TON) 3 0 0 0 0 0| 3TONLAF
H24 |ZFIREY mg/0 102 110 - - - -| 30~200
B25 | i3 4.7 0.1  O.1K|  O.1Am| 0.1 | 0.1 1ELIF
H26 |pHfE 7.9 7.6 7.9 8.1 8.0 8.0| 7.5
H27 |t (Gr7 TR -0.5 -0.9 - - - -l —1~o0
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